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*  Complcteall éntrics on the cover page and put your signaturc in the spacc provided.
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OUMR Answer Sheet.

*  Candidates should also rcad carcfully the instructions printed on the Admit Card and/or
OMR Answer Sheet before attempting to answer the questions.
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* TheJest Booklet consists of 16 pages (including cover shect) and contains 100 quesiions. |
Cotint thic Aumber of pages and questions before attempting the questions. Discrepancy, if
any, must immediately be brou ght to the notice of the Invigilator.

"0, The t{mE"(Tc‘_s_t:Juration) as specified above shall be reckoned from the moment of
distribation of the Question Booklets.
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2. Blankspace intheQuestion Booklct may be used for rough work.
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3. Each question is followed by four alternative answers. Select only one answer, which you

consider as the most appropriate. Shade the relevant circle against the correspending
. question number on the OMR Answer Shezt.

4, Scl.cctihg more than one answer for a question, even if one of the selected answers i correet,
would result in ifs being trcated as an incorrect answer. However, there shall be no negative
marking for incorrcct answers.

5. Answers should ONLY be marked on the OMR Answer Sheet, No answer should be written
on the Question Booklet.

6. Alter the Admission Test is over the original OMR Answer Sheet shall be collected by the

Invigilator  while the candidate can take with him/her the carbonless copy of the OMR
Answer Shect and the Cucstion Booklet. ;
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3T U Tk s SRS R R e my apology
(a) except (b) assept (c) accept @ expecﬁ
22. The verb form of the noun “Dcpcndcnce \s
(a) Deepen () Depend © Dcpendablc (d) Dependar |
23. Choose the adverb from the fo,llowin.g.
(a) Walk S ®)Good (9 Fast (d) Badly

24. What does the phrase, “to be up and ﬂom means'?

(a) to be actively engaged (b) 10 recover from ill

() to be lazy f(d)_;t.°_zl.’¥99°55 satisfacts

25. Which part of the speech the underlined word is?

All the puople cheered ST
(a) Noun (b) Pronoun (c) Adjective (d) Adverb
26. The farmer is working 1., ;hxs ﬁeld
(a) at (b) in i @on

27. The active voice of “Who teacha you Enghsh?" is

. (a) By whom you are taught Engllsh (b)"By whom Enghsh is taugh i ybﬁ"‘“

........

(c) Who taught you English L g (d) Whom do you taught English by

. AR wusum . soe il
_\\ummsm Y : A
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28. The indirect narration of “He said to me, do you kno'.w me”?
(a) He asked me whether I knew him  (b) He enquired if I know him
; (c) He asked me that if I knew him (d) He said to me that if [ knew him
29. Select the correct antonym of “Alacrity”

(¢) will-power  (b) bravery (c) useful (d) h2sitant

2. Choose the correct feminine gender of the given word “Monk”
(a) Nicce (b) Queen (c) Nun (d) Mistress
31. 'I‘ht, distance of Alpna (,enfﬁun isabout
(b) 4.3 light years
(d) 4.3 light minutes

(&) 8J13ﬁtyears
© lSOﬁr_puh_c'n km

32. CFLs contain a toxic material by the name of

(a) Carb_dn (b) Sulphur (c) Argon (d) Mercury

33. Some students wers ordered to arrange the forces due ta friction in a decreasing order.

Choose the conrect arrangement
(a) Sliding, Static, Rolling (b) Static, Sliding, Rolling

(c) Rolling, Sliding, Static (d) Rolling, Static, Sliding

The process of loosening the soil for improving air circulation is called

‘(ayLogging -~ (b) Thrashing (c) Winnowing (d) Tilling
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35. Proplastids are found in RS : v ¥ oh

() plant cells

{¢) animal cells " (d) both in plant and animal cells

30. Hydrogen gas, obtained from natural gas, is used in

(a) Automobiie fuels (b) Paints

(c) Stoves (d) Fertilizers

37. PVC is an example of

(a) Plastics (b) Thermal-plastics

(d) Thermo-setting plastlcs

1A GRS, (%

(c) Thermoplastics

38. The copper vessels in a long run get greenish deposits of

{2y CnO) - CnlOH), (b) CuCO;
(c) Cu0 (d) Cu(OH); + CuCO;_ as

39. Plant and animal species found qc}us‘i;ycly ina éonﬁqu area are tcm_nqé as ,‘Tw-;;a T
(a) Flora and Fauna (b) Endemic species - Coo gL

c) Ijlndangcred species (d) Threatened species

40. 2, 4-dichlorophenoxy acetic acid isused as g

(a) Herbicide I (b) Insecticide
(c) Pesticide (d) Weedicide E
6
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(b) non-photosynthetic bacterial cells- + ' i

41, Which of the following disease is caused by bacterial

 (a) Polio (b) Typhoid (¢) Malaria
42. Which ofthe following is a soft metal?
(@) Potassium (b) Zinz

(c) Magnésium

43. 500 grams of co~! on complete combustion produces 12,500 kilojoule of heat energy. The

calorific value of coal will, therefore be

(a) 25,000 kilojoule/kg (b) 1.0 lakh kilojoule/kg
(c) 12,5000 kilojoule/kg- €d) 1000 kilojoule/kg
4 . Thé gas that generates acid rain is
" (a) nit*oge_n (b) carbon dioxide
~ (c) carbon mono-oxide (d) sulphur dioxide

E

- 5. The endocrine gland that is located on human kidney is

(a) Ovaries - (b) Adrenals (c) Thyroid (d) Pituitary
'16. The speed of light in air is about
(a) 300,000 km/s (b) 500,000 m/s
(¢)3 % 10" m/s (d) 1000 km/s
;ﬂ. The loudness of sound, expressed is a unit, is termed as
(@) hertz (b) decibel (c) light year (d) meter/s
00i o . 7
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(d) Hepatitis

(d) Aluminium
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48. A pendulum oscillates 60 times in 6 seconds. What will be its frequency?
: nc

0.1 h d -
) ertz (b) 360 hertz (c) 10 hertz (d) 60 hertz.
49. Halley’s comet will now be visible in the year
a) 2025 ) 202 0 7
() 5 (b) 2020 3 (©) 2062 (d) 2015
50. The largest planet of the solar system is
(@) Jupiter () Venus () Mars @ Satum "
goppmidr - ¢ of astoialin U,
1. The association of Rhizobium bactcna in plants causes 4 22
(a) Root disease S Cb) Fn_nt disease i
/ (c) Nitrogen fixation * (d) Reduction of ﬁilrite ;

52. The light waves are similar inaturg to that of

(a) X-rays (b) Cathode F.E'YS:-‘ 1

53. A man is standing between two plane mmors mclmed at an angle o1 60°. The number of

unages that he will be ablc to seeis

h(a) Four _:.(b) Ttiree.

(c) Anode rays

04

(d) Infrared rays

54, The angle between geographical and magnetic meridian is known as

(a) Angle of magnetic dip
(c) Angle of dgﬂection

5. The magnetism at the center of magnetu‘ bar is

' (2) zero (b) maximum l'
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(©) mmu'num : (@ medium 8

.. (b) Angle of declinatior.
.. () Angle of meridian

(d)Five_. .
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56. The cell, in human body, that changes its ' 1pe is

(a) RBC (b) WBC (c) Muscle (d) Nerve
57. Rust of wheat is caused by
(a) Bacteria (b) Insect (c) Fungi (d) Virus

58. Which component of the cell is responsible for the inheritance of tne organism’s characters?

(a) Plastids (b) Vacuolc (c) Mitochondria (d) Chromosomes
59. The most ductile metal is
“(a): b (b) Gold (©) CgpPer (d) Zinc

- e » S
60. Identify the one that is not an cxample of fossil fuel

(b) Wood (c) Petroleum

(a) Coal

61. Ganga Action Plan was launched in the year

(2) 1975 (c) 1990

(b) 1995

62. The frictional force exerted by fluids is called

(a) pushing (b) dragging (c) rolling
63. Naphthalene balls are prepared by using

(a) carbon (b) coal gas (c) coke
0cl1 9

(d) Natural gas

(1) 1985

(d) sliding

fd) coal tar
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64. Which onc of the following oxide will not change red litmus to blue?

(a) Calcium (b) Sulphur

*(c) Sodium (d) Magnesium
65. Fertility of rice-field car be improved by the association of
(a) Rhizobium  (b) Blue-green algae (c) Protozoa (¢) Clostridium
66. The value of 3—- (—4) is
(a) 7 (®)s ©1 . . (d)-1
67. A rational number between —5/7 and 3/4 is Ll
(a) =5/6 ) -1 © 12 (d) 514
: nE IR S 0 n e
68. Which of the following is a reflex angle?
(a) 180° 7b) 90 (©) 135° (d) 270° W
i Jareedds NI
69. Which of the following number is not a perfect square? :
(a) 961 ) 121 ©125 (d) 256 T
70. 1f (a+b) = = Fib= :
.1 (a+b) =10 and ab = 21, then @’ + b" =7 it
(2) 58 () 126 ()82 (d) 255

2 ~
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71, One-third of a numbex is greater than the one-fourth of thie-number by 2. The number is

()12 (bj 64 ©)24 . . (d) 102

72. For the numbers 1,1,2,2,3,3,3,3,5,5,5,7, the median is ~:

(a)3 ®)7 ©2 g A

73.10% of 25 is 25% of .- g
(&) 100- .. (b) 250 ©25 @10

i i i chase the fan?
74.@n'selling a fan for Rs. 810},"{‘" X gmgsij’A. F?r how much did he pur :

(2) 800 () 850 ©900 (d) 750
5. How many dingonals are there in a pentagon?
@6 ®s BCE (d)»4
76. Cﬁb;}oot of (-8) x (-343) X (125)is? v :
(a) -70 ®) 35 He)+35 . (d) 70

. i its as if “R” and *r” are radii of the
" 77. The area of a circular ring can be presented in squarc units as if “R” and " are

o G5 4t SR i .
(&) T (R-7) ) © ®*-") ©n®-F) @27 R

; 11
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78. In the given figure, Z ADP is equal to
v 1
(a) 118° (®) 62° £ L3 (d) 124°
79, 1 X=2, Y=1 and Z = =3 then X’ +Y* +Z} 3XYZ i equal to
()6 ()2 0 @8
80. The numoer of diagonals in a polygon of n-sides is given by
@ [n(n+1)2]—n 5 ) [n(r-1)2]—n
©n(n-1)2]+n @17 (n+1)2] +n
81. The angle which exceeds its complement by 20 is
(a) 45° (b) 55° (¢) 70° (d) 110°
82. What is the value of 0.00007 1n standard form? :
(b) 7x10° (@ 1x10° () 7x107°

() 7x107*

12
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83. What is the height of cuboid whose volume is 275 cm’ and base atca is 25 cm? ?

(@11’ () 10 (c) 50 (d) 25

84. What is the relation between number of faces (F), number of edges ‘E) and number of

vertices (V) of a polyhedron

(a) FHE+V=2 (b) F-E+V=2 (c) F£2=E+V (d) ExF =¥+£2

85. By joining the points (0, 0), (1, 1) and (2, 2) we get

(a) a curved line (b) a circle (c) a triangle (d) # straight linc

v

.

86. By what numbers should (-20) “'be divided so that this quotient is (=5) =,

(a) 174 ()4 "(c) 1/5 (d) >

87. When we square any whole number then which one of the following digit should not come

\

out at unit’s place?

(@2 ®)4 - @9 (@1

88. A circular wire of radius 42 cm is cut and bent it into the form of rectangle whose sides are
in the ratio of 6:5, the 'smalier side of rectangle is

(a) 60 cm (b) 72 cm (c) 30 cm (d) 132 cm

89. A closed cylindrical tank of radius 7 m and height 3 m is made from a sheet of metal. The
sheet required is

(a) 550 m” (®) 740 m’ (c) 500 m? (d) 440 m*

001 13
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97, The largest three digit number which is divisiblo by 6, 8 and 10 is e

~ 90. The scale of the map is gwen as 1: 30000000 Two umf-s are 4 cm upar;on the map thcn ; ]
actual distance between them is ; : ; ; ; : > e
‘ : L it (2) 999 (b) 900 (©) 950 _: (d) 960
(a) 1100 km (b) 1300 km (©1000km - (d) 1200 km S
" 98. The LCM of first seven natural numbers is
91. Which rational number does not have its recxprocal" : : : ‘ !- s (h) 420 (© 168 (d) 84
{a) 1)’ (b) 1 (©) -1 d) 12

i 99. The HCF of. two numbers is 19 and their LCM is 1 i4. If onc of the numbcrs is 57, find the

ek M A N

92. A dodecahedron is having 20 vertices gnd 50 edges, then the numbex; of faces 8_;‘6: other numbers
i e ©1 i AT )95 © 228, . @i
93. The value of [(25%2% 5 2)(5x10xp )] such C.a., 0 is o ; . 100. The average of the two numbers is 21. If any third numb#r is added, t.hen the average drops
: to 19
e (b)' L o 3 130P4. (a). 18 () 21 : ©19 : @15 .
i :
94, The value of (a—b) (a+b) + (b—c) (b+c) + (c—a) (cta) is i
(a) (atb) (b) (a=b) (c)0 @) (cta)
95. The ratio of boys and girls in any class is 11:13. If 8 girls and 4 boy« join the class, ihe ratio :
becomes 4:5. Find the number of students in the class o =
(a, 108 (b) 120 (c) 96 (d)240 ; : e o
' 96.P=Q+50% of Q. Find the ratio of Pto Q i |
(ﬂi‘i:’\z ) 3:2 (©)1:2 (d) 2:1 '
s : 2 | - <
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st S ANSWER s

URDU
4= 2-C 3-a 4-c 5-b 6-c 7-d 8-a 9-b 10-c
A HINDI
11-b 12-c 13-a 14-a  15d 16-c 17-b  18-C 19-c 20-a
' , ENGLISH |
21-c 22-b 23-d 24-a 25-c ©2b-c £74R7-aF /461 29-d 30-c
SCIENCE

32-d 33-b 34-d 35-a 36-d 37-Cc 38-d 39-b 40-d
42-a 43-a  44d - 45b 46-a 47-b 48-C 49-c 50-a
52-a 53-d 54-b 55-a 56-b 57-c 58-d 59-a
=4 62-b 63-d 64-b 65-b :
:"nfﬁ'h':“s'n'%""' MATHEMATICS




